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Algebra 1/ Geometry A- Two-Column Proofs 
Vocabulary:
· A postulate is ______________________________________________________________
· A theorem is _______________________________________________________________
· A proof is __________________________________________________________________
__________________________________________________________________________
· Segment Addition Postulate: If B is between A and C, then 					         .   If AB + BC = AC then 											         .
· 
Angle Addition Postulate: If P is in the interior of RST, then:
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GIVEN: HI

PROVE: HI = JH

Statements | Reasons

LHI=9,17=9 1.

2.HI=17 2.

3 3. Definition of congruent segments

4
5.
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GIVEN: AL = SK
PROVE: 45 = LK

Statements

| Reasons

1AL = SK
2.LS=1LS
3.AL+LS=SK+ LS
4.AL+ LS =4S
5.5K+ LS = LK
6.45 = LK

2 om oo
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Given:?: M. £N=2Q

QR
N

M 0 p

Prove: AMNO~APQR
Statements | Reasons

1. 55 =rn 1.

2. 2. Given
3. AMNO~APQR 3.
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Given: GKIIH]

H I
o

Prove: AGIK~AHIJ

Statements Reasons

L 1. Given

2. 2. Corresponding Angles
3. £G=£JHI 3.

4. AGIK~AHIJ 4.
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Theorem 4.1 Congruence of Segments
Segment congruence is reflexive, symmetric, and transitive.
Reflexive For any segment 4B, AB =4B.

Symmetric  If 4B = CD then CD = AB.

Transitive  If 4B = CD and CD = EF, then AB = EF.

Theorem 4.2 Congruence of Angles

Angle congruence is reflexive, symmetric, and transitive.
Reflexive For any angle A, LA = ZA.

Symmetric If Z4 = ZB, then LB = ZA.

Transitive IfZA4=/Band ZB= ZC,then£ZA4= ZC.
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IR Write a two-column proof

Wri

a two-column proof.

GIVEN: mZ1 = mZ4, mZLEHF = 90°
mLGHF = 90°

PROVE: m£2 = mZ3

Statements | Reasons

1.mZ1 = mZ4, mZEHF = 90° 1.
mZGHF = 90°

2. mZEHF = m£GHF 2

3. mLEHF = mZ| +mZ2 3.
mLGHF = mZ3 + mZ4

4mL) + mL2=mL3+ mld 4.

5.mZl+mL2=ms3 + mLl 5.

6.ms2=ms3 6.
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m Transitive Property of Congruence

e Property of

Prove the Transi
Angle Congruenc

GIVEN: ZA = /B, /B
PROVE: £A = /C A

Statements | Reasons

1. ZA = /B, /B = £C 1
2.msA = msB
3.msB=msiC
d4.msA=miC

S

5. z4= ZC





